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A The Goddess Kaila Devi is considered an

incamation of:

Choose the most appropriate answer from the

options given below:
(A) Parvati

(B) Bhadra Kali
(C) Durga

(D) Mahalaxmi

(E)  Question not attempted

FeAT 2 Y fopeRT 3raar gmET T 2
Frafafaa fasedt & @ aatfas segw s
(A) urEdt

(B) WETHIA

«C) T

(D) HerereHt

(E) SAqdf@ w4

In which famous temple of Rajasthan do we find
rats by the thousands?
Choose the most appropriate answer from the
options given below:
(A) Kami Mata Temple
(B) Kaila Devi Temple
(C) Jeen Mata Temple
(D) Ma Tripur Sundari Temple
(E) Question not attempted
ererar ¥ e g AR A Tt Y wEA § 6
oo fart B @ Tt S S
(K)ot AT af=t
(B) e & af=t
(cy Shoram af=t
(D) ™ frgrg=h af=t
(F) Saf@ s
JKL-Z10] —_—
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As per the clagsification of musical instruments,
to which family does the “Fktaara™ belony?
Choose the most appropriate answcr from the
options given helov:

(A) Ghan (B Tat

(C)  Sushir (D) Avnadhya

(E)  Question not attempted

1 7 3 e AT AR A AR
7

e fraeeit 6 @ watfies 30 777 T3

LK) T (B) 7212
(€ adm . (D) FATAA
(E) #A{afau4

Mastitis disease is found in which combination of

following herd/flock?

Choose the most appropriate answer from the
options given below:

(A) Sheep and fowl

(B) Cattle including buffaloes

(C) Sheep and goat

(D) Pigand Goat

(E)  Question not attempted
frfrfad i & fre gm ) 3 wen (afRfem T
AT AT 82

Frefafiaa freredt § @ waffires I9gw 3o T:
(A) Wg st
gy et 3w A o
©) g siawd
(D) gmaﬁtzmﬁ
(B) TR
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Name of the tiest cloned sheep was

Choose the mrost appropriate. answer from the

aptions given belows

A\ Poly (3  Rosie
\(‘\ \1\‘“\ (l)) l)\\”\
(9 Question not :lllmnplqh

LR ESICE RN NT T W AT
Prsfafad e 1 8 waifs Iug® I T@

NESER IS R
() A (D) <3
()Y 3 EGR R \\

N . AN . .
Granular white ghee obtained from buftalo is duc
O\

1o the feeding of

Choase the most appropnatc. answer from the

& \
options given below: =~

(A)  Groundnut (B) Cotton seed
\*S

(C)  Mustard (D) l..mxced

(E) ~ Question not anempted\

t?qcr—aamammaﬁ\wm%%qn
-'T@a?ﬁaars‘a@%l

frafarEg samwmawan%mavgmwgﬁ:

(A) TTEE By e e
(€) = (D)
(E) 4 94 :
-
Which of the following is{the tallest breed of
sheep in India? f’&;
Choose the most appropriafgjanswer from the
options given below: -
(A) Nilgiri (B) Nellore
(Cy Deccani (D) Bxkancn
(E)  Question not attr@mplcgjt}g

frfafaa § @ uid § W g E At Tt way
/%,}

e 2

ﬁqu’@afarmaawaffwmﬁ(m:

(A)  Hrafd vty Giean

(C) <Al (D)
(E) rafta a4

8

97

w

al

I'he difference between principal and simple
interest for S years at a rate of 6% per annum is
T 3500, then the principaliis:

0" ntfeen & #6271 /S5 a9t 1 geAa S gran
SIS 761 37T T 3500 2, 71 euT 2.

LAY 4500 (B) 26000
(C)y 4000 (D) Z5000
(1) Question not attempted / FF?TTT? aa
2
If -g—(wl' ,\';" —3— of ¥ ; %QF:. l};en X:iyrzis
afax bl 5=y g o Ay z @
(A) 106:15:18 (B), 5:4:3
- .
(E) 6:12:20 (D) 18:16:15

(E)  Question not attc}nﬁted = :jﬁi” a7

JO/ A man buys an article at apnce 20% less than its

marked price and sells it at a price 20% more than

its marked price. His profit percentage is:

@wﬁs%ﬁa’wﬁsﬁﬁa—:; 20% =9 T3
ST AT & HIT AT oA F 207 HaF T

A mmmuﬁ*ﬂ%

(A)  50% J,Bia 40%

(C)  45% D) 35

(E)  Question not atte;r;;ted T FH

sy

Which of the tollowi mﬂ National Highways
passes through Ralax(h:m

(A) National Highw .1)' uo -73

(B) National Highw az no - 83

(SN National Highw ay\\no - 11
(D)
(£)
frfafaa o @ w=-ar ngm THENT TR |
mmrpm%’

National Highway no - -0

Question not atterapted

g\i

JdA)  ushra asmnt wn\.%*; 3
B3 u rrwrmrr@z{g\sx
(C) ey usmnd g -1
(D) usha gsmnd T - 40
(K) vt wa
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12 Palash forest is a sub-type of which of the
following forests in Rajasthan?
Choose the most appropriate answer from the

options given below:

(AA)  Tropical thom forests

(B)  Tropical drv deciduous forests
(€Y Sub-tropical mountains forests
(D) Nangrove forests

(EY  Question not attempted

TR 2 G F 79 afafan i 8 e @ wm
TF 39 TFR 82

TEaTEy [SEedl § § waHfie 3ugw 39 T
o> R

(A)  SWESYUT FIAS T7

(B) SWIH{CSYTE I qoiqTat 97
(o7 i e

(D) WS

(E)  37q9Ha I

-

Which of the following statements is correct
about Salar forests in Rajasthan?
Choose the mosr appropriate answer from the

opuions given below:

{A) Pine is the chief tree of these forests.

(B}  These forests are found in only the plain
areas.

(C) TIts wood is used for making packing boxes.

(D) Itis found in Jaisalmer, Jodhpur regions of
Rajasthan.

(Ej  Question not attempted

frmfefiga § 9 #1981 F49 THE4E % Gran 341 &
I FE R

frfanaa faadi § 4 Aaife 3ugw o 94
(A) g T F I ga 8l

(B) A3 FAA Bz & 1 9 ST #)
fEm =T 2
}D)/ZI?HMFFWW{{]PWITWW
2
(E) sHafaud
JKL-Z10] ==

/
\Jd/ Who is the Science and Technology Minister of

State (independent charge) in Rajasthan (as on

September, 2024)?

Choose the most appropriate answer from the

options given below:

(A) Kal Raj Mishra

(B) Bhupendra Yadav

(C) Sanjay Sharma

(D) Bhajan Lal Sharma

() Question not attempted

AT 1 S 3 AR T AT (T T
i (fader, 2024 1) 27

Frfiafia frwedt i 4 Fatfirs 30w 39 T4

“/(,/)/ T fuy

® T ooy
) s —Taavaflad
(E) dfa g
15  Shri Janki Lal Bhand, the famous Rajasthani who
was given ‘Padma Shri® Award in 2024 is an
artist of
Chéose the meost appropriate answer from the
options given below:
(A) Ghoomar folk dance
(B) Pottery Art
(C) Painting
(D) Bahrupiya Art
(E)  Question not attempted
TSR o off ST ATt wig R 2024 F oz ot
QeI | WA foharm F FATHR L
Frerfefiae faeec i & aratfives swges v o
(A)  PREH )
o (B) U7 (FrRTh) T
() o dfam
(D) SRS Fen
(F) orgaf@ ws
4 : [ Contd...




\16'/ Which of the following departments has imposed
4 ban on the manufacture, import, stocking, sale
and use of plastic carry bags in Rajasthan?
Choosc the maost appropriate answer from the
options given below:

(A) Information and public relations
department

(3)  Rajasthan State Pollution Control Board

(C)  Lducation department

(D) Tourism department

(1) Question not attempled

JKL-710 )

frefafaa 4 7 ey 8 fag favm 3 s
wfaara = e 2

frferfad faedi @ & @atfie Iage 30 TA:
(A) HeA U A fm

i HERIER S LR ERELICIE

(Cy  forear faam
(D) gdz3 fEam
(E) SFAfa 34

y//\kf'hich of the following villages of Rajasthan is

Tourism  Villages
of

‘Community Based Tourism’ by the Ministry of

of “Best

Competition-2024"

winner the

in the category
Tourism Government of India?
Choose the most appropriate answer from the

options given below:

(A) Ranakpur (B) Deomali
(C;  Kuchaman (D) Kumbhalgarh
(Iz)  Question not attempted

T 1 Fefataa 1 @ I | T qE
5 i wAre 7 e s ade d A
5 s i wif yfaenfir-2024" % fasr &2
Fretfeafia fael 1 @ wafferds Fagw e T

@,/ T (1) Zauredl
(C) =W (D) F¥dg
(E) sqafrau4

it

20

nl’l/"lf _12_ of x

m/Two articles are sold at the same price. On one

article the shopkeeper gained 15% and on second

article he lost 15%. What was his overall

pereentage gain or loss?

(A) ZIT% loss

(B)  No profit no loss

(©)  24% gain

(D) —li*”,{, loss

(E)  Question not attempted

THRTL 1 5% T UTH FH7ell & AT GHT T T 1S %
=11 I2TaT B1 AT 79T w1 7 F Afdr # 2
(A) 2% e 4By Fem T A

© 24wEw (D) FueEE

(E) Iaf@ a4 _n

yBTC by
If 84— 24{,@»—%—18\2 =0, then the ratio x : v is:

T 8:2 — 24xy + 1812 =0, Tl x - y FT A 2

@B 213

A 9:4

(CHRS, 2 (D) 4:9

(E)  Question not attempted / 3-'!3,3»{?1 e

The ratio of present ages of “v"and 'v'is 3: 2. Six
years ago the ratio of their ages was 5 : 3. The

sum of their present ages is:

e 3 'y T TAEH TG TSI 3 1 21T ;W
& ST ST HI ST 5 : 3 11 ITHT TAHH 7Y
EARIUEE

(A) 75 (B 30
'LG)/ 55 (D)6
(E)  Question not attempted / iﬂiﬂita 9l

3 . :
< ofy, then by what percentage x s

more than y?

afr v Loy om Ay & e vl
sy '
(A)  25% B 10%
(C). 20% (DY 15%
,/(I“/) Question not attempted / A T

| Contd...
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Which of the following dam projects 18 not

situated in R;l_i.'lsth.'m‘f
Choose the most appropriate answer from the
options given below:

Damodar Valley Project

(A\)
(B3 Stdhmukh Dam l‘rdji‘%l
() Nleja Dam Project -
(I Jawai Dam Project q
(EY  Question not ;nmnpi&l
fFr=fafas & & #39-4 a’fu qReEiSET TS
&U‘ﬁs" i \,
fr=fafas fewedt 3§ & wafffe soge so T
(A) arﬁzwwawﬁ?ﬁamm
(B) H<wE a1y yf@rsHr
(D) war gty afEgeEr ¢
(E) qEikawy :‘%f
1
m

Where is Panchana dam sifuated in Rajasthan?

Choose the most appro[{qu;grc answer from the

options given below: St
(A) Sikar z«:).
(B) Bikaner i’*i
(C) Karauli ;l\i
(D)  Kota ©
(E)  Question not ‘mcmptc
A1 I ST 5 Fel ﬁ:zm o
frafafaas faFeti d g mﬁﬁm TG IW T
(A) " *: ‘3
JB)/ et Zf?f
(C) =0eh &2
(D) FI20
(E) wrqufta 4
JKL-Z10] =

Ve

24
~

25

126

6

“Hamel™ is an ornament worn by the Rajasthani

women around/on ‘
most npprl)priul(! answer from the

Choose the
options given helow:

(A) Neck . (B) Head
(©) Ankles (D) Waist
(%) ()uutlon not A(tcmptul .
qUA TR ST 2 )
Rrapedi & & gaffiras Igg 377 T4
3 By fo
(C) =@ (D) AT
/r-,) st
From which “Ap'xbhh?ma" language, did the

Rajasthani language not ‘evolve?
Choose the most appropnate answer from the

options given below: g

(A) Magadhi Ap'lbhramsa
(B) Shaurseni Apabhramsa
(C) Nagar Apabhrziifnéa

(D) Marugujari Ap“ab‘flramsa
(E)  Question not al:tAe‘tjnpted

TIATRY

(A) m e (B) < s
(C) TRIMIN (D) HIE TSI JTHT
JBY SR

The poetic text which describes the greatness of a
king, his conquests, wars and valour is called:
Choose the most appropriate answer from the

options given below:sy

(A) Prakas “(B) Vel
(C) Vigat ;,gb) Raso
(E)  Question not q}(unptcd

a6 H T, Gﬁf%mﬁswﬁm 3! fiem,
Y& S AT ahr ol e R, et ..
ﬁmﬁﬁwf&mﬁtﬁwaﬁaﬁmmﬁ

(A) W «BY
((') &‘T[Z (D) m
() srqufa wa
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27° " The singing of Rasia accompanied by the playing
v of Nagada is associated with which type of
dance?
Choosc the mast appropriate answer {rom ‘the
options given below:
(A) Bamrasia Dance
(B)  Ghoomar Dance

(O)  Kalbehya Dance

(D)  Terahtali Dance

(E)  Question not attempted

TS & |y War e foew o @ wetad @2
fr=fofiad fasedl § § waifae Iugw™ ST I
Lg;\]'/imtﬁm‘[ T

(B) WIS

(©) Frrafcrar I

(D) dtEaTE! I

(E) &iE 94

Name the first Chie{ Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Mohanlal Sukhadia

(B) Bhairon Singh Shekhawat
(C) Hira Lal Shastri

(D) Jai Narayan Vyas

(E)  Question not attempted

WA grg USFAH 9e31 & e qEiAl @ A
ERIEL

fefafiaa feedt § @ @atfid Iagw 3T
(A) HTeAeTd gatfear |

(B) i fae sramad
uef Fm e g
(D) 517 IO A
(E) 3rquftagq
JKL-Z10] =

/
~29

/

In which year was the Jaipur Praja Mandal
formed?

Choose the maost appropriate answer from the
options given below:

ferar ek = St s e T 7em

= feu o faeredi 6 & waw 3age 3 =4

SR 1931

(A) 1934
(C) 1932 (D) 1933
(E)  Question not attempted / # ?lji”l Pt

\}({ Where is the ICAR National Research Centre on
Camel located in India?
Choose the most appropriate answer from the

options given below:

(A) Dungarpur (B) Jaipur

(C) Bikaner (D)  Jodhpur

(E) Question not attempted

T H TS €Y T IR HT AL F2 FATHIH 52 Fat
T fewra 22 _ ,

frfafaa faweal & € gaifas Iugs 39 T4
(A)  TRE (B) SAE

4 R (D) ST

(B) rqafawH

.31/ Which of the following is not a crossbreed cattle
strain?
Choose the most appropriate answer from the

options given below:

(A)  Frieswal (B)  Sunandini
(€) Karan Swiss (D) Rathi Gir
(E)  Question not attempted

Frafafaa o & w6 ndsft 6 v e T
frafafiaa faemeal § @ waiffes sugw 3o

(A hrgae (B)  gAf
(€ wwfaw  0) W
() arqaft gy
7 | Contd...



12.

" Which ot the following is known as the milk city

ol India?

Choosc the most appropriare answer {rom the
N

options given below:

(A)  Gandhinagar

(13) Anand

(C)  Asansol

(D) Durgapur ¥
(1) Question not dllepIL‘d

ﬁm%f@ﬁﬂﬂ&ﬁmw,wmﬁr‘ﬁﬁqﬁ)

FET FET & :\t
qa N § N 3_d-(aoﬁ
(A) AT Oy
(B) 3Uie
s
(D) T 2
e O\
(E) 70l g o
o

45
T'o see an enlarged image,of the teeth, dentists

use-
el
Choose the most a/)pmprmre answer from the
options given below: {_"'}
. %l
(A) Kaleidoscope o W
) ™
(B)  Planc mirror )
. . L’f’wi
(C) Convex mirror -
“"r‘e’)ﬁ
(D) Concave mirror
(E)  Question not auetlz&)ted

it o7 ST wfafera Es forg 2t & et g
i feRar STar - ‘;:j
frofafad faeeai H 4 waffﬁm;:mg?ﬁwgﬁ

(B) goae 4o )
(C) 3 34l
(D)  FEad Z4

(E) mgaﬁfauel
JKL-Z10] = 8

o

34

With reference to the reflection of light, which o

the following statements are correct?
; . {4 . :
a. The light ray which strikes any surtace. is
£7% 4 -
4

called the incident my.

b.  The incident ray and the reflected rav. bvih
. /
arc perpendicular.to cach other.
c.  Theangle of incidence is always equal to the

angle of reflection. :
d.  The angle between. the normal and incident

%, 1 .
ray is called the angle of reflection.
£
Choose the most appropriate answer Iron e

Groyv \-U-b{

. . O
options given below:

(A) aandconly ot

(B) a.banddonly ,i I

(C) b.canddonly ’:" ‘ q MY@»CA‘
(D) canddonly C

(E)  Question not até;;lptcd

N

W¥W$Wﬂ T g Ea-a
2 -
‘/mﬁﬁmmﬁmmw*—nﬁr%
mﬁﬁma’u‘s’a‘é‘l
deEaqEEt el (O
/mmmwﬁqm$mgﬁ?x
Vf\mm(msﬂtmﬁmmwwm

o

aﬁqrra'chmm%l
ﬂaﬁtmqﬁmuét

A

\17’)%’7( FaT a, b3 A

(&[ FIA b, ¢ 3Id
() a3
(F)  TaiE
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(I Ni:ﬂ RGRNES

When hight falls on g shiny suethee s dige chion s | QR

chanped. This s called of linhi

Choose the mosr appropriate answep tun‘n the

options given below:

(:\) seattering (B rellection

(Y refvaction (M dispersion

(I Question notatempred

13 Al SR AT GHT T ST B e 336
BN \dmmn wl un*(ﬁ N T v

T*'w N

foafafes Hc?ﬁnrtﬁ W‘a'ffbassuwm T

A TER ey s

() ST O () afe fewsh

g

i d

Who was the founder of the Jat principality of

Ny

Bharatpur. «

Choose the mo.\'r:“aﬁpmpriarc answer {rom the
options given bclq\i\;f{

(A)  Badan Singh™? (B)  Churaman

(€Y RajaRam (D) Surajmal

(E)  Question not auempud

S S

o
Woman saint Daya Bai was a disciple of | 39
N~

Choose the most aﬁprr}pria{y answer from (he
options given belaw:

{A) Saint Ram D"is

(B)  SaintRam Lhdmn

(Cy  Saint \’xrbbd\{ankar

(D)  Saimt C haran«{l).m

() Question nm zmunplgd

Afee gz - farn
ﬁmaﬁaamwmnawaffmwg?ﬁ:ﬁngi:

(A)  &d g

(I3) H?T*TT{?ITUI; "
e , e
©) #a g

(D) 4 oy arg

J
Y
b 9
¥

Which  famons temple

representatine ot the

architecture?

Choose the mml appropriate

Oplions given Lmln\\

(A\)
(B)
()
(D)

()

V

I'cmp!c{dg Parss

ol Rajasthan

“Haveh™

anath

£
,\;nhd\\y'}x temple

)
LT
l’ushkn(,h‘mp!c

became

fory of temple

AnswWer

Temple of Nilkanth Mahades

Yo gd
it

Question not attempted

('l‘

from the

Wmmﬂ:mmv :’?”W“"

BT wmnmﬁﬁzw’

(\)

(@)
(D)

(E)

‘ﬂ'a:i J T ql:*k

qmm:v
N
BIRE TR TECion Rereey
*\!
WHWLW
\wﬁ

Mendel  pertormed

. e - yrn by
hybridization St

i
e

his

CXperimenis
t

Choose the moss appropriare answer from
st

opuons given below:

(1\A)
()

(k)

%
K

Sweet pe

Drosophita
e

(B

(M

Albino mice

Suntlower

Question not attempted

-

o

BECERE u%}m & g g w By

ﬁwf‘«lﬁad faerenl 1 § weifae ST IR -

g(:\l
()
(1)

74
HET (RIL\W)

$T¥ﬂﬁﬁ€‘ﬂ\;
Cﬂrff(du N

(-

B)

()

N R

sl

N

N

1
in

y

W
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VA0 Wiieh of the fallowing nre the dominant traits for \-,;z/ Match List-1 with List-11

secds of garden pea plants? List-d List-11

- | . ; | Crenlt A) (Contrasting

‘hoose the W80 appropriate swer from the

OOK( ¢ maos l/’/)lﬂ/ ale nn ( (8] (« “-"i( "f'rr““ /\) k
options given helow: i Axial position [. Ycellow -
(A)  Yellow and wrinkled ol Nower
(13)  Green and wrinkled b.  White colour 1.  Terminal
(C)Y  Yellow and round of flower

. c. Green colour of sced 111, Round {
(D) Green and round )

i ) d. Wrinkled shape IV. Violet i
(£)  Question not :||19|11|)IC(1 of seed i
Frefefrs 3 @ a0 méa e i i 3 st eft-1 3 A i1 7 firer i ‘
fere et wraror &9 g1 -1
Freafesferm et & arrfferes g 3w (e A) (AT A

% farafra fagraam

(A) e 3t e

G G?U}‘U \{q a. gw#%:ﬂaﬁu fearfa 1. dtem
B) 0 i gt ' b. qoF & "% T 1. sfaer
(C) drem e T°\ “ c. dTHET . ma
(7 T S i e ﬁ(%L d fMErgfenamEn (v, dr
(E) = S ' Choose the most appropriate answer from the

> options given below:

e

Which of the following is not a law of inheritance?
Choose the most appropriate answer from the

options given below:

(A) Law of Dominance

(B) Law of Segregation

(C) Law of Independent Assortment
(D) Law of Dwarfness

(E)  Question not attempted

frefafaa @ a #-a1 srgaifedy & fram & &7
fnerfarfaa fakedt § @ watfas Jogem 3o
sarfarar =1 fam

(A)

B)  garR AT

(D) @raga &1 faam

(E) uf@y4
JKL-Z10] =

A fe e foreredt 3 & watfires suges o)
*K) a-MLb-Lc-1V.d-1I

(B) a-IIb-Ic-II,d-1V
(C) a-ILb-ILc-1V,d-I
(D) a-ILb-IV,c-I,d-1lI
(E)  Question not altcmplcd/\'ﬁgﬁﬁﬁg’ﬂ

\}13/ Where is the Mehrangarh tort situated in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B)  Jodhpur
(C) Jaisalmer (D)  Jalore
(E)  Question not attempted

TSTET 8 e fohett gt feery 29
ﬁw%ﬁaaﬁrm‘fffﬁwﬁbwwgmmaﬁ:

@ W () s
(C) e (B) ek
(E) qafawy

10 [ Contd...




A

R

NE )

AT

he Junagranh tone s stoapted which iy ol
Rajasthan?

Chooxe the most appreopriote answer om the
OPHODS paven Delonw

(\)
()

(I
(m
(1) Queston nat iempted
b 0 g B foa
fraletfaa e :mmm, AT A
(A sl YU RN

() () e

() Al ay

Hikaner Tt

Kot Narmer

Mention the date on which the Princely State of
Bikaner formally ili!&‘g:l:!lc*xl into the United State
of Rajpasthan? ;

Choose the mostappropriare answer from the
options given below}

(A ST APl 1948 ()
(©) ST Aprl 1946 (1)
(1)
39 fofy a1 was @i s siane ard sy
sigfi =9 | wgis Tsre o o wfinfen o
T

fr=afafaa famﬁu watfas guge 3o
(A) 839 !948 AL 319‘61 1949
83 1946, (D) 7 ST 1948

700 April 1949
T April 1948

Question not attempted

(I2)

Air rushes into the lungs of a human being during
4 é%

Choose lhc most approprmtv answer from the
options given bclow

(A) Neither mhal.mun nor exhalation

(13)
(C)
(D)

'R

Inhalation | g
Exhalation ; y
Both inhalation and exhialation

(I) Qu«.slion not uucmplcd
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(C) @feyua

(D) 2 37 mm 3111 ufe: aua
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Choose the oyt appropriate answer from the

opliony piven U[n{)n\\':
v R fgeq v e araffers oo s

(AY = IV gl e - T d - f
Wl L OV e Lo - 1
(Y a- Vb e - d -1
(D) a- LB -V d -1
(1) ()uv.\‘limin :ml attempted inW}’?m‘d Y

Seleet the |)l‘0r)léjms'\\ hichare not caused through
polythene, ; .

a. Cause qu(‘d‘]}' in drainage svstem

b, Cause ot depth ot cattle

¢ Cause diseases like asthma and jaundice

do Allow thd friin water to be absorbed in the

soil e
¢ Danger to tertility ot soil
Choose the moyt appropriate answee {rom the

options given L)};Jm\

(A aceandeonly (B)  acdand ¢ only
(€)Y band doaly (M candd only
(1) Questigithot attempted

RERIEEIRI R B (BRI R O M ER R RN
A e N\\n\n BT
b e HR B vy

e STERENT LR QR QN o
Al ster TR st Q3 L

frgh < okt & fere wran
!I\ fauw g & fh!‘i’vﬁ 0wy gugw Sa

(A) awm(.‘wnh () et . o 9 o
NEY ATRB A e e it
() \u\lulhgmx
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In which city of Rajasthan is the “Desert Festival

held every vear?
Choose the most appropriate answer from the
options given below:
() Pokhran (3 Jodhpur
(Y Jarsalmer (D) Barmer
(I Question not attempted
yraitss faar ey
Frefafan fewedt § @ waffe sugem 3w 3
(A)  GIER (B) SR
uCy  SEeR (D) STEW
(E)  Sqoia W
Which Rajasthan city plays host to the Camel
Festival every vear?
Choose the most appropriate answer from the
options given below:
(A) Jaisalmer (B) Jhunjhunu
(C)  Sikar (D) Bikaner

{E)  Question not attempted
TR T FHA-G1 T a3 merdd
et faFedl § § 7aifas 3ugwd Sa g4

(A) “EEHT (B) #FL
() = 7 R

(E) axg?rﬁaaa

What is the predominant material used for men’s
clothing io Rajasthan, since times immemorial?
Choose the most appropriate answer {from the
options given below:

(A) Silk (B)
(C) Polyester (D)
(E)  Question not attempted

AT B AT A & g afrar & fere fr e
&1 @ I9ATT | AT ST £?

frafafaa fawed 4 @ aaffas ogw 39 34
(A) foe= @y it

(C) difauex (D) e

(E) #igafta 94

Cotton

Terricot
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\52'/ Anncrobic bacteria digests animal waste and

produces biogas (change-A). The biogas is then

burnt  as  fuel  (change-13).  The following

statements pertain (o these changes,

Choose the most appropriate answer from the

options given below:

(A) “None of these processes is @ chemical
change.

(B)  Process-A is chemical change.

(C)  Process-B is chemical change.

(D) Both process A and. B arc chemical
changes.

(E)  Question not attempted o

Feq=t F7d ¥ (aftdA A1 o i 1 $9 F B

3 StetrT e 2 (frEd By e amer 23 A =

grfd )

Fr=rfefaa faeredi # & watfiras o7 =797 T4

(A) T F FE ft mEw vF TEEtE TiEdT
TE Rl

(B) WFAT-A U AT Tivad 2

(C) ufswan-B U AT aftad 2

(B) rgafew

Which of the following statements are correct?

a. Physical changes are reversible and stable.

b. Chemical changes are irreversible and stable.

c. Physical changes are reversible and unstable.

d. Chemical changes are irreversible and
unstable.

Choose the most appropriate answer from the

options given below:

(A) aanddonly (B)

(C) bandconly (D) canddonly

(E)  Question not attempted )

frraferfiaa & & FR-R wwm wh

a. %ﬁﬁfmwﬁaﬁr{mﬁuaﬁrﬁmaﬁg,

b. Tt wierd -gesmite o fere ary 3

¢ siferen aftErdT IoRmoit s srfer 2y 3

d. vt aftads Rsemofiy o

aand b only

(A) FEasid () Fawrasiwy
(€)  @@ebsite (D) Faeteoaing
it I war
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This non-metal is a good conductor of electricity -
Choose the most appropriare answer from the

options given below:

(A Graphue

(BY  Bromine

(Y Sulphws

(M Caoal

(I Question not attempied

TE UTY a7 gerers @
rafafag ﬁw\fﬁﬁwaﬁbawgmwgﬁ:
«\_S?\‘Jﬁ ; D &

(BY  HEH
(C) S
(D) =19
(E)  ST7oRa ws
»/‘//
<

The metals that produce a sound upon striking a
hard surface are said to be '
Choose the most appropriate answer from the

options given below:

{A) Lustrous

{B)  Malleable

(C) Sonorous

(D) Ductile

(E)  Question not atempted

3 914 F1 F2W Fd8 T IR FE G A e
Freifefia fagedi & & waifae sugew s

(A) SIgFTC
(B)  samaavi
Wy ot
(D) a=

(E)  smfa gy

KL-z10] =
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567 Which of the following physiographic features is

not found in Rajasthan?

Choose the most appropriate answer from the

options griven belows;

() Tadoti Plateaus

(B3)  Aravali Mountaing

(C)  Thar Desert

(D)  Coromandel coast

() Question not attempted

frrifefiaa 4 et Ap-smrfa e 5 T o
STt &7
ﬁwﬁaﬁaﬁmnuwﬁfwmw?
(A) " e em

(B) 37Ut gedq
(C) o wwEret
DT FHmvEd a2
(E)  3rgafed wor

G/Alluvial soil is found in which of the following

regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  Western and southern part of Rajasthan
(B)  Northern and eastern part of Rajasthan
(C) Northern and westermn part of Rajasthan
(D)  Eastern and western part ot Rajasthan
(E)  Question not attempted

STt 2T TS % Frer § § e ar i qreft et
2
frefafaa fereat 5§ waifires suge s

(A)  TSreuT a6 afndt ofie afyoft s
(B) TSI &7 394t 3t it W
(©) TSTey™ 1 Iedl o afdpdt sy

A1) TSR o et S gt sym
() srafe uy |
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‘(Ghauuhar plain is a sub region of which of the
following physiographic divisions of Rajasthan?
Choose the most appropriare answer (rom the

options given below:

(A)  Easterneplains region

(B)  Woesternt desert plain region
(©)  Aravalli fegion

(D) Semi- n‘id‘dn region

(E) Quulmn not attempted

wwﬁ'mmé;%mﬁrﬁf‘aa:&mmm
TS IqET R
ﬁmﬁﬁ*@aﬁmﬁéwﬁ%’-mwgﬁ
Vem/wa?f‘!‘aﬁtm

(B) Qfmuwdiuﬁaméw
(C) IEch A
(D) 2T &
(E) st s

Devendra Ihaji aria, who was elected as President,
Paralympic Commmee of India for 2024-28 is
related to the spon of:

Choose the most appropriate answer from the
options given below

(A) Long Jump (B) Discus Throw
(C) JavelinThrow (D) High Jump
(E) Questlon ot attempted
uTE F JEE 1 2024-28 # afafy F svem
%ﬁmﬁaéauwa—«'%? ’
F=ffiEa fasegt @ 4 aaifas sugw w94
(A) a:a‘?aa?\g O e o
(C)  Tel Mﬁﬁﬁ
(E) reRaas

sl
—60/}{0»\ many sed{Sivere won by the leading political
party in Rajagfh"dn Assembly elections held in
20239
Choose the most appropriate answer from the
options given below.

et

l()l/thn was Maharana Pratap crowned as king?
Choose the most appropriate answer from the

options given below:

(A) 28" February 1575
(B) 28" F(;I)rmry 1572
cy 28" Pcbrmry 1573
(D) 28" } Lbruury 1574
(E) Oucsuon not attempted

qumxmnwﬁwqﬁ
frferfiaa et @ Taffis 3ggw 347 T

(A) 28 Fad 1575

(B) 28‘5‘(‘5#1‘ 1572

ey 28tmaﬁ 1573

(D) 2<swafr 1574

(E) m?fﬂaw
zf“»,

\,62/ Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the

options ngeﬂ below:

(A) Bhawal (B) Dashavtar
~(C)  Jatra ™ (D) Swang
(E) Quelétis?n not attempted

TSI & Wi S TTH &7 979 Fa=20)
Freaferfian Rreredt & wartfire soge 300 5

NAY vETE (B) ZWmEAR
(C) ST (D) =m
(E) mﬁ%w

In how manv main groups has Dr. Grierson

divided lhi}l‘ljdh[hdnl dialects?

Cd

Choose thé.-arost appropriate answer from the
options given below:

S e AT el By ey sy wet B
ﬁmﬁa%ﬁ’%
ﬁmmiﬁﬁvﬁﬁQMWsﬁ(aﬁt
AxT s ii (B) 2

© 3 n (D) 4

(B)

2023 B e faarret g # stmoft aeehfaen

Zd 2 Fadt @18 Sfieft e

ﬁmﬁﬁ‘aafaﬁﬁﬁmﬁ‘mmmgi

(A) 135 . (B) 129

(C) 108 ey ) 114

(E)  Question’not attempted / wafE v
JKL-Z10] =

Question not attempted / 3Tl ¥
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Fhe oxyaenated blood 18 aaspoited from heart
(o Vanous organs of oy body through-

Choose the mosr appropriare

answer trom the

OpHONN given bolow i

V) Lymph

B Artenes

(Y Vems

(M Both arteries and + NITEN
(Y Question pot . attempted

TS EY s RGO TR F h
T m W‘T\WT

FteTReT F‘wnamﬁmmwﬁ
(A WW“T

B uni

() ?":'RT\\TT
APTTTORTT SR Rrgat o
(£) Iy

NS Y

Which of the following are the parts of human
male reproductive svstem?

g Urerus

8. Urethra
¢. Proswte gland
d.  Fallopian tubes

¢ Vas deferens
Choose the most appropriate answer from the

options given below:

{A)  bandeonly (B) a,bande only
(C) a.canddonly (D) b.cande only
(£)  Question not attempted

F=fafid 4§ 379-61 ¥Ha IS 47 @ Wi

-

* . TT91g

b, i (gram)

¢ Uz ufy

d. fzgarfean

¢ IHARE .
A faw m faamet 7§ wartfire sogm wCT:

(A) FTaAbse (Bf Fde g, b sMe
(€©) #ada,c Wd*l‘i( FAEA b, ¢ 3T e
(E)  srgaf gy

Ki.z10) =
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o
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Which of the tollow ng (ol dance forms 1S more
popular in the Udaipur region or Rajasthan?
Choose the mosr appropriate answer {rom the
vu;\ru\n:\‘ mven below
(Y Dhol Dance By Bamrasia
(C) - Kalbehva Dy Bhaw g,
(B Question not atempred
OIesng % I AT 4 Fhaam ey T 3R
Rz &
Freforfias frreai 2 2 TIIIE J777F T
(A) F’TH?F: (By  wmifas
(© Fesfom oy
(B) e s
Name the Saka Kshatrapas who controlled the
popular tourist destinations of Pushkar?
Choose the mosr appropriate answer from the
options given below:
(A) Rudra Simha IB)  Ru dradaman |
(©)  Yashodaman 1 (DY Nazhapans
AE)  Question not attempted
S¥ YIS §99 $1 99 96wy 5wy T F S T
T WS = iy i
ﬁmﬁm:ava
(\) W (B)  w=sm=
Wﬁ?ml (D) SESE
V(Ex MRELCRE
Rajasthan  E-waste mamgenent policy was
formed and invoked in Rajasthan in the vaar
Choose the maost appropriate answer from the
options given below:
TSR -390y W A s s
e R
frefofa e 3 Q avifrs IUYH W
(A) 2024 BT 2021
(C) 20 () 202
() Question not attempred | AR ww
| Contd...




N Ihe difference between compound interest and

o

N \ N w for Y
simple interest on a-certain sum ol money for 2

years at 4% interest per annum is ¥ 40, then the

sum ol money is;

vas ffya vauRr g g, s sns ) @ o an

RS 7@% T AN AN &SR] AT A0 h (h

aw mmﬁn
318,000

\\
(C) ON.25.000

(1 T 20,000
(D) 15,000
T\ .

E) H.\anslmn not attempted / Jlﬁﬂm’f wy

) N

O

A certain amount of money becomes thrice in S

S

72

Which city of Rajasthan was nominated (as on

September, 202:0) for Wetland City Accreditation
(WCAY?

Choose the most appropriate answer from the
options piven below:

(A) - Inisalmer (1)
(Y Jodhpur e (I))
(1Y Question not nlsunptul

fyiferfers @ e v o azets el
ufpefERerr (WCA) P?ﬁ*nfrm firiars 2024 7F F
aregerTt) P rare @ ¢ N

Presfarfia frmenl it wmffb?ﬁ Fu7H T T
(A) SrEremt ey ST

(C) v (D) IEAL

Jaipar

Udaipur

»‘\‘) n} AT $%) N:p
(B) i g &

1nnu& In how many ycars it \vnII become 9 times

of itself? \]5/ In which year did ln\ﬂ.x s Prime Minister launch
(A) \ Years (B) 15 Years the SG services? C‘\!
(©) ,{1 Years (D) 10 Years Choosc the most appropriate answer from the
(E) “Question not attempted options given below:

(A) 2022 (B) 2019
T Ffg vt 17%yﬁaﬁmﬁmaﬁaﬁ © 2020 ““(D\ 021

%mﬁﬁ:nﬂﬁmﬁélaﬁ%ﬂ%aﬂ’fftmﬁ9 |

(E)  Question not .munptcd
Tﬁ?t ; m%wm#ﬁﬁﬂa&ﬁi(,mmﬂw

oy <8 TR @) 15ad foaram? o
(©) ~1°at§ (D) 1oad Frfefaa faseat TR maffire Foge 3
(E) _tm - LAY 2022 M@y 20108
o” ©) 20208 Yoy 2021%
s
\,7/ If the simple interest for 12 years be equal to 60% (5 Wﬂ—d ™
of uut%rmupal then in how many years will the 74 In financial year "0’3 179 million domestic
\lmpjtj.)m(,r(,‘bl will be equal to the principal? tourists and 1.7 mlf.llou international  tourists
A) {.‘-{8 years (B) 20 years visited Rajasthan, Ihv.‘u)nmhmmn of the tourism
©) {’\54 years (D) 22 years sector to the state GDP is approximately:
~J Choose the mosr dp 73r¢)1vr::1r¢' answer from the
() (fQuestion not attempted options given bclo\\‘ﬁ
7fz (3l @1 WUV SAT IWdH YEUT H 60% 2, ﬁﬂa‘fﬂmﬁmmﬂnow\gwﬁmm
a1 far adl 8 gawer @S, qAUd & TR @ 17mﬁ%¥hﬁmmmﬁumﬁ:&am%
W’fxad uBy 20 ﬁt{ﬁf@aﬁrﬂw—vﬁ“ﬁ'mff&mmwaﬁ
(c) m‘M ad (D) 22ad Mﬁ ‘ C:)ux) 8%
(i) Crafia s € 10% c\”;(l)\ 12%
Q! (E) - Question notgugempted / aqga&a B
JKL - Zl?‘]l = 16 L0 | Contd...
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Fot teeding cattle, poat and sheep, which ol the
following 1s are not used

as todder \IO}\(.\\ ?
ad. .\1‘ll(x

b, Legumes

¢, Cotton

Jd. Race

¢ Barley

Choose the mose appmprmm .,m\\\u from the
opuions given below:
(\)

(@

b only (B3
(D)
Question not ¢ attempted

%né%ﬁn&ﬁmﬁ

’.i and ¢ only

band d only (ml\

Which of the following lb lrue about CARI-
SONALI? :

I
(R

Choose Ihe most appropriate -answer from the
options given below:

tA)  Commercially Brown c&) laying chicken
(B
(C)
(D)
() Question not attempted

Frafafaa & g &4 - dEreh (cmu SONALL) %
ERS-EE iRV

=fafraa faweai g @ qaifua Iqg I
v arfufs W1 w1 2q aret fada

Dual Purpose Chicken. e
Commercial Broiler (hxckcn

Comumercially White L(;_,g laying chicken

M3 21 Teza ard faaa ’ l
(C)  arfurfsas gigen faa=,
(D) arfufsgs gFe ster 2a'ai fada
()

}
it w4 (

1)

JKL- 710 o

a1
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In how many phases was the clection of the

Rajasthan Legislative Assembly 2023 held?
Choose the maose appropriate answer from the

optons given below.

st e o fepy REIE “(m T =i g
stenfaa fee g

Fr=fefire famei o 4 TATferE 3Uge 35

(A) 03
HIT 01
(Cy 02
(D) 04
(E)

Question not attempted AN 9

Who among the following has NEVER (as on
September. 2024) been the chief Minister of

Rajasthan?

Choose the most appropriate answer trom the

options given below.

(A)  Bhairon Singh Shekhawat
(B) Diya Kumari
(C)  Ashok Gehlot
(D) Haridev Joshi

(E)  Question not attempted
Fe=t o & o it it (s, 2004 3 % HTER)
TSRS T FEviaA) Tl T |

frofefaa fraeal 1 9 mﬁba::mv—ﬁ I

(A) W fée ey
WY e g
(C) 1&gl

(D) el st E
() orula wy G
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b)‘f/ According to the modified budget 2024-25 of
Rajasthan, how many rural houscholds will
receive drinking water  under  “Jal  Jecvan
Mission™?

Choosc the most appropriate answer from the
options given below,

(A) 27 Lac Cv—,\)YU \{\.Uk

(B) 21 Lac

(C)y 15 Lac TQY—C\Y%%
(D) 2S5 Lac

(Y Question not attempted

TR F aftafda e 2024-25 % svEn caw
ST fom T F siorta ey i oi % = | e
TEEH AT 2

Tahgd A g A | affbw:m: 3?{72\1';?

wX) 27em

’ (B) 21¥mg
(Cy 15E@g
(D) 25@Tg
(E) FEEaus

+80  Which of the following geographical terms is

associated with the climate of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Kaal Vaishakh
(B) Aamra Varsha

(C) Mavath

{D) Phoolon ki Bouchhar

(E)  Question not attempted

frefataa 8 -4 imfas wezaed a6
(A) A

(B) A AT

J) wrEaz

(D) gt A1 A1

(E) Fafa a4

JKL-Z10] =

i state cor 1o,
Most of the part of Rajasthan statc comes unde;

s . g~ %
which of the following climate zones.

g

Ite
e

, om
Choose the most appropriate ans=er fro

options given below:

(A)  Tundra climate zone
(3)  Iiguatorial climate zone
(C) Temperate climate zonc
(1) Polar climate zone

()  Question not attempted

T T ] SRR a e E 8 S A
fafesfaa fredt § @ gaifas 399 277 =7

(A) 7731 FAATT A
( sl ZIT A FATT A7

(C) framm Feam 24
(D) gdm FwaTg 49
(E) wFHiEaaa

\BZ/Which of the following rivers is not associated
with the Inland drainage system of Rajasthan?
Choose the most appropriate answer from ihs

options given below:

(A) Banas (By Kantli
(C) Mantha (D) Kakni
(E)  Question not attempted
fefafas & & Fad & v F smnes
SIATR OF § AT T8 2
Frfafea fased # & Faifie soge o=
(A) =T 4By e )
1 (C)  wHar (D) T
(B)  sgafe wa
83" Which of the following lakes is situated in
Rajasthan?
(A)  Lonar lake (B) Nokuchiva lake
(C)  Pichola lake (D) Koleru I;;ke
(E)  Question not attempted
ﬁqﬁwﬁgﬁﬁaﬁw-vﬁ:ﬁamﬁ&w%}
(A) AR 3 (B) i s
ey o e (D) ﬁ;‘m Ei|
(B)  orefea wy
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84 } \Milk sugar is called: r)!'/ From the followiny physical regions of Kajastnan
Choose the mast appropriate answcer from th which region shares its boundary with Pakistan”
opuons given below: Chouse the most appropriate asnswer Srorn Ve
(A) Sucrose (B) 4tial(()sl. options given below:
tCi  Lactose (D) Fructose ‘ :

(/ /este coert Plair ST
(E)  Question not attempted - ) estern Desert Plain wg.gu
T TR ST FES 'é (B)  South Eastern l’la?r:a!f”:f:f!_'gi!m
< 7
T=fEtEE G e g H 77U—"m~7’? (C)  Aravalli Pegion g
K 4
{ ;/ t:;r.t'* (B) LTTF%W (D) FEastern plain Pegion
)y aES (D) AL 1
(©) — =4 (E) Question not attermpte r‘
(E)  =TEAvE o j o
- - TETaE F AEiAvaA “»”n'/)"l) o=t
L85 :T:C: LS sty EiSE3: L.zf?z“ FN-T1 A9 THFATE % 974 779 9157 978 5071 27
Ist- 1s{- fw
.- i:il:Ii :”’g;l il’¥'=4l q? M ’DD? Pt
z. Gujjar Bakarwals L \1aharashtra
b Gaddi II. Jammu and Kashmir ./""/ afgedy e &7 A7
c. Raikas 1. Hn'nachal Pradesh (B) 71”’7”7‘331"‘["« ,
d. Dhangars I'V. RajaSthan (C) ] a3 o~
==-1= = EaRp , s o - o
:‘_.17 =11 "'Ffr:r"jffq (D) T i ,
T=r-1 aat-11 -
e - ' E) HAAAFa 94
a. TEElEEAE I. Hax (E) >
b, TE II. qmﬁ;}ﬁ'{ FIHI it
c. g m. fedr=d 92 Which of the following regions does not recenne
ki . e | 88 o s ne
i IV. g ' irrigation water from the Jc.'fhﬁ'r‘ dam project of
C‘I}(:&OSC Line most aPPropriatzza?swer from the Rajasthan? L
options given below: 4 o B )
= oo e fas=at i'qaaiﬁzw%vgmmgﬁ] Choose the most appropnc:f: answer {rom the
oy . . 17
(Ay z-MILb-1V,c-Ld-I* options given below:
(B) a-Lb—HI c-1,d-1V (A) Pratapgarh
PR R VeI e IV g (B) Chittorgarh
D) z-ILb-Lc-1V,d- iy o
o (C) Udaipur -
(Ej Oueatzon not antempted L399 94 Png
o I (D) Bikaner -
YA ailine of / i . s
& Maru Raikas settlements are C;Iléd (E)  Question not attempted |,
Choose the most appro, . NI .
Ppropriat {?i’swcr from e frafafaa § TR F1 SO & STES @1
options given below: - . . 1Y
- gfegrsHT § faens ster wmm 32 1A e
(A} Basu (B) Igloo Loes” .
(C; Bhabar (D) Dhandi C cqIH " gk 3T <A
(E)  Question not attempted ' (A) Td@TE y
o1& TaE F famg o
% frama war e £ 3 (B) fadremg i
frefafes fawedi 4 4 walt IACA: -
I T (C) F@L
(A) & (B), %) ( e -}
c ‘ ( . o) I IE AL N
(C) Hrew ) 7 ‘ . N
< - %) -
(E) @Faf@ug Le) . (E)  S¥gefd w L)
{ “y [ Con(d...
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7 oV
Y . Internal tertilisation does not oceur ine
Choose the mosrs 41)»/»/'4»/N'iulh’ answer from (the
options piven below:
(\) Hens (I Cows
(C)Y Donps (1M Frops
(1Y Question not attempted
fpaferfiag 0 A RN ara fAnas 3 an
tpstatad e N A wwffaes gy auc:
Ay i HERIER
(Cy Ay (D) Naw 1N
(1 SFaRE uw
V6 Deficieney of which of the following causes
cracked feet in poultry?
Choose the most appropriate answer {from the
options given below:
(A Vilamin D (B)  Magnesium |
(Y Zinc (D) Biotin
() Question not attempted
Frfeifaa 3 2 formed it Fage § W e (s
$I2) T F B
fr=rieitiaa faaedt & 2 watfires sugw ot T
(A) fEafmp B) afifim
Lm/ EE (D) =mEEE
() A ay

Jf/’l'hrcc numbers are in the ratio of 3:4:5 and their

L.C.M is 900, then the sum of these numbers is:

A G 3:4:5 a:aﬂmﬁ%ammaw
grIEA® 960 , A 5 WSt w5 gy .

% 240 ) 144

192 (D) 180
(I:)  Question not attempted / 3Tj?fﬁ'ﬂ ay

JKL-Z10] =

20

J)i/ The selling price of 10 articles is cqual to cost

price o 12 articles. The pereentage gain or loss in
this transaction is:

(A) 16 "?i“"/i- loss (3)  20% gain
() )()“/%»I(\Q‘% (D) 33%—“1, loss

(1) Question not attempted

10 il 761 s qet 12 A A
ST R 56 Q- 1 F s i A afeeT R

(A) 16 @l ) 20% A

€y 20% wrfr (D) 33%”,.?’.1%
u/anfmwer

s I

e

Ve

)L"/ Amit deposited T 2500 cach on 1% January and J
July of a year in a bank which offered 8%,
compound interest compounded half yearly. The
interest carned by Amit at the end of the year

was:

AT T T¥F TR T 2500 TEeA! JAAAT qUT TESA
SIS T T Sfeh § ST fRAT S 8% wafg e
a1 ® ST =T <X SETE wafed 1 S 21 7 F

3 A7 1 TH =TS i 5T ofi-
(A) Z308 BY T306
(C) 300 (D) T304

(E)  Question not attempted / 341?{{5?6 T

}4 While doing a calculation a quantity is wrongls

_ S . .
multiplied by 3 instead of . By wha

percentage the answer will ditter from the actual

answer?

mmmmwwmmﬁmﬁ =

)man ftgvna“namamﬁwmﬁmﬂ
EX (8 Famr wfaera = g
A 17T % B) 16630

s :

BT Question not attempted / Nﬂﬁﬂﬁgﬂ
| Contd...



95 Ravi covered a distance of 2 km with & certain

-
speed. By what percentage he should increase his

speed so that the time taken by him to cover the
same distanec is reduced by 2500

g v fAferd a4 2 faaf o ) @ At m
syt =T 6 A wfaora sy fay afon o
Za T A 0 IW 280, 9 gy oo

n S 1 0
(A) % %) '.~‘ n (n) 2894,
. ) 0
() 20% M) 165%

N () Question not attempted / 3799 w4
9

95 Theaverage runs scored by a batsman in 9 innings

18 35 How many runs he should score in 10
moings  so  that his  average runs  scored
become 657

TF Feciars ZR1 9 UGt § S7d 55 T ST ST
#1 1037 9 T e e & ST for 3 1 o1 3t

65 TSI

(A) 165 (B) 155
e

@27 160 (D) 145

(£} Question not attempted / Zﬂﬂﬁﬁ?{gé‘l

/9/ L.C.M of 2.4. 0.36 and 1.08 is:
2.4, 0. 36 HT 1.08 F1 FTIAH FHAF ¢
(A) 21.6 . (B) 036
(C)_-25.92 (D) 108

K{(}ueslion not attempted / ATHTE 94

t}/ The smallest 5 digit number which is exuctly

4

divisible by 6, 7 and 8 1s:
5 it A mEd gid W S 6, 7 SN 8 g quid:
“TA) 10056 ) 19 thgw |

\)(, 10168 (D) !0080

(E)  Question not attempted / %1 i wa
. g % nA

N

/ Seemna invested 75000 cach i vtwo different

hanks atsimple interest for 2 years, The difference

hetween the simple interest recerved from theae

two banks s 2 7 What s the difference snthe rate

of interest of these twe bank”?

A U U C R e A I A T
pnr S e et fen fray faon 2 gy o
GIH HTATIVE 00 L ST 7 5 2y 24 241 43 3 2r 2
a1 R ST P

(A)
(©)
7

1.2% (b 0.7
0.08% () .47,

Question not attempted / 44474 %

\,um/ Approximate age of sexual maturity of 2 huffalo-
bull is:

Choose the most appropriate answer from oz

options given below:

(A)
(®)
()

22 months (B 15 months
38 months (D) 2% momhs

Question not attempted

qi ;—-'ﬁqzﬁ Eﬂil’?‘ atrFEAT £ ':r‘—‘w;?” P01 »’f 7.

fefafad fa= = 0 | HATNTE 09 o

T4
7

WAT 22 T8 (B) 1554

(€)
(E)

38 WEH (D) 283715
At 94

\)81/\Vhich of the following statements 15 incorrect”?

Choose the most appropriate answer {rom i

options given below:

(A)
(B)

(©)
(D)

(1)

Metal oxides are basic in nature.

Almost all metals combine with oxvgen w
form metal oxides.

Most metal oxides are soluble in water.
Metals react with water and produce o
metal oxide and hydrogen vus.

Question not attempted

feferfea 0w #@m-a g weg w2
f-“n:if‘z-*ifi“m f"rrcvrﬁ fw’ i{ w*nfim m—ﬁ TS

(A)
(1)

ACT

(1))

('I'M'l sl urfg{ .:nrmrﬂ-{ a sifabr e
uTq & SIS SR 2)
sifuerdt m’qah e SRS 5ot 0 el
W '
urdu, stet 4 sitafikar s @ e ur
SOFUTEE Al @IS e Jeges] FTe1 2
EERILRED

P antd



Guroks] Taranagas

lU’Z/S;Iccl the incorrecet statement with reference to

metals. ,
Choose the most appropriate answer from the

options given below:

(A)  Brominc is a very rare metal.

(B) Gn!_limn melts when kept on a palm.

(O S\odium is 80 sofl that it can be cut with a
kni?ll‘.

(D) Méxft\ﬂ}' is liquid at room temperature.

(I Quéstion not attempted

wTgadt & Hed A 39 v R AR Sl T

D ]

Frferfa fareedt § & wartfiras guges 3o
(A) Eﬁtﬁqw‘dﬁwmm
(B) ﬂﬁ?ﬂﬂ?ﬁ?ﬁwr@ﬁﬁﬁwmél
_(© ﬁ%wmﬁﬁm%%sﬁm{ﬁmm
i e 2
(D) wm @& T w5 F AT W W
EOIES
(E) :ﬁ:‘ﬁfzﬁusf

Concave mirrors are used in-

a. A lour?h

b. Sidg;';lirror of vehicles

c. Head 11fzhts of vehicles

d. Solar cookers

C hoose_{tbe most appropriate answer from the

optionsigiven below:

(A)

(B)

(C)

(D)

(E) Q;;csﬁon not attempted

a, @A

\:%( avfr’r'g— S q1d (ATgE) 2dv 6
i

b'and c only

a, b and c only
b, c.and d only
a,¢.and d only

BT §

d. mrwﬁ
ﬁaﬁvmﬁmﬁnnﬁ%:«mm—lﬁ,
Zﬁé%rbd‘ﬂc

(A)

(B) 735%& b 3T ¢
(C) Wb c ¥ d
(D) Wu c 3y
(F) oAt a4

JKL - Z10 J;’f_":
)

22

104

105

“Goga Navami” is celebrated all over RajfiSthan

in memory of:

Choose the maost appropriate answer from the

options given below:

(A)  Devnarayanji - (B) Tejaji
(C)  Gogdji (D)  Pabuji
(%) Qu:csiion not attempted
rﬁmm#ﬁﬁmﬁwn T AT T
27 i
frfafas Rrpedt o @ watfas 399 377 72,
(A) REAREOET (B) A=
(C) St (D) 9T
[
o g}
(E) aﬂ\a,i_léltﬂ L]
g

Which of~iﬁe following is not an example of :
chemical *chan ge?

Choose the*most appropriate answer from the
options gi\}%n below:

g . .
Buming of magnesium ribbon

(A)
£%3
(B) Rustihg of iron
1
(C)  Formation of curd
(D)  Crystallization
(E) Qlfé’éinll not attempted
fFrferfiae & & a1 TamifyE ofads w1 2R

(A) AN e 1 stemr
(B) <R ¥ i e

b

(C)  Sgtag s
IR

aj’rrﬁﬂwn:
oy
it

(D)

[ Contd..




gwg The source book which keeps a record of all the

KL.z10) =

e o prevent rusiing galvanised rron pipes are
b

caatad wath:

Chowse the maost appropriare answer from the
crnons given below:

\) Nickel {BRY (‘\\P;\\r
(& dine (DY Manganese

Question not attempted

TEeSs S WsEay SR F IR S ST Y I99 %
=T W@ SER I R

-
T=EREE %?T\*T:G’W'fﬁ]a'mm?
A e (B)  amwatEr

W07 The Indian Wildlife (Protection) Act was
implemented in:

Choose the most appropriate answer from the

opuions given below:

(A) 193] (B 1968
Ty 1972 (D) 1976
(E}  Queston not attempted

A IS (S30) STafTam @ g o
'*“’*’@*Q——zfmj 5 %%Fﬁﬁéwa‘iﬁm-a‘agﬁmgﬁ;

AT 1981 F (B) 1968 1
“(C) 1972F (D) 1976 %
(E)  Sqofawy

e

endangered plants and animals js called:
Choose the most appropriate answer from the
options given below:

(A)  Black Data Book

(B)  Red Data Book

{C) White Data Book

(D) Yellow Data Book

(E)  Question not attempted

Frtferfen famedi 4 4 watforg ITGH IR
A) =Fz@am (b 1e STl A

©) =mEerigs (p) i:t—frmrgm

() srafawy

wrd
109

H - - - . - {/’I'r’;!;’,
Which of the folloviang statcrnents 19 1
.

about the red yellow soil in Rajasthan?

Choose the most appropriate arnsicr from the

options given helovs: |

(A)  Thissoilis formed by the ficiaon of granite
schist and gnesis rocks,

(B) This soil is found in Bikaner and Barmer
area.

(C)  This soil has enough quantity of lirne and
nitrogen.

(D) It is not suitable for the farming of
groundnut and cotton,

(E)  Question not attempted

FH-91 F99 T2 27

(A)  Feuz o IAmez @t 513 =2 & fagres
gt 2l

© Wﬂﬁfﬁmwﬁﬁﬁaﬁtmmé‘

(0) 7% el = 1 e v
T gt

(E) SIofaax

})(According to the Census of 201] which of the

following districts of Rajasthan had the highest
literacy rate?

Choose the mosr appropriate answer from the

options given below:

(A) Udaipur (B)  Barmer
(C) Kot (D) Ajmer

(E)  Question not attempted

2011 ﬁmm%mmme\ﬁﬁm%ﬁem g
4 o f5rY Y e TCHaifieg ot

Frefafas e 4 Wi Juges st REE
(A)  S&aqT B)  sre
(C) @iy D) arm
(B)  sryafar gy

[ Contd..,
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ot 11 Which of the following census years had recorded - [)’.A’Ilich of the following are the parts of the e

the highest sex ratio in Rajasthan? exceretory system?
Choose the most appropriate answer from the a.  Urcter b. Kidneys
options giy‘cAl) below: ¢, Green glands d. Urethra
f‘ﬂ?ff%rﬁ??fﬁn frg ad 6 FFIorEn 0 asrarE 0 ¢ Unnary bladder
?nmf‘wn?ma 7ol fapan e Choos¢ tlhc most appropriafe answer fror
ﬁm&r&ﬁ%@—cnﬁ 1 I?W‘ff@??:m‘g%‘mt 3‘{ ()plinn;(;';\'cn below:
\jA{' ":mzl? : CWUYO l‘Uk‘ (A) 'S l’» ¢ and d only
(3) 1971 (B) A!O d and e only
() IO\\T\‘:: "\'Q‘M'Y\q&a/i (C) l()c d and ¢ only
(D) 20012 (D) a:B, dand ¢ only
O\ et
() Question not attempted / I7gafd o (E)  Question not atternpted
N ﬁm%%ﬁﬁﬁq-ﬁmm?#?#xf?
JI2 Amange :li; following organs of respiratory a. ;;(t" i b. T ’
svstem of human bt,lnﬂb in a proper sequcnce in ﬁﬁnﬁ d. TAATI
order of th:: occurrence: : e. WA
S st oo S - -
a. Trach%c\gi b. Alveol :ﬁaﬁ%:r,é%mqq WEWW =
c. Lann\;\; d. Nasal cavity (A) FFab,c3ild
C. Broncﬁn *B/ éa? a, c.d e
mmmma‘%wmﬁﬁ © Tdewe
frrfer 7@ HE1 0 & oAt T 4 iﬁaa‘b'dmc
. b, T (afemdtel) () S
¢ *3 W) d. AEIIE \LM/ For a:iii?icial insemination frozen semen
. werht & N ) preser\eaat - in liquid nitrogen
Choose the. Jriost approprm!e answer from the Choosc“(ht most appropriate answer irom
options gié{ below: opnonslfj\ en below:
3y fr 70 Farapedt & wartfares UG UL Wwﬂm%ﬁ‘a’qﬁ PPN
(A)  d.argeeb ot wfefi i s 21
®) o ﬁ’b c . Freferias fraredt & ratfiyas 3uges 57 T
(R c;“: gy ) (A) —S?@ @ sy 1040 C
\SW/ ¢4 tzb ! ©) LMo°c (D) -160°C
(E) Qué{.ﬁlon not attempted / Wﬁﬁﬂ‘ﬂ (E) g:jcmon not attempted / 3:(:&'{1’1?{ s
JKL - Z10] E 24 :{3 | Contd.-




MKHJ}\ is deficientin

SRR
Choose the most appmpmm camswer from the

op[mns given below: O\

(A) Calcium (B) \’\'l‘\‘i in A
(C) Tron (D) \’mumn Ii
(F)  Question not nlcmptui
arg g *1 ) ﬂ"ﬁ

ﬁqﬁf@ﬂﬁ;%ﬂﬁumﬁba;amwﬂ
Ffeaay

(A) B)  fazifa A
©) S ey e
_® S S0 N
y16  Farming that combines crop (rbduction with
livestock raising is called: (N
Choose the most appropriate ‘ulﬁwur from the
options given below: et
(A)  Jhoom farming .
(B)  Mixed farming k:;
(C)  Dairy farming ™
(D) Mosaic farming ™
(E)  Question not attempted €%

(7

JK

T I ST T TToH, DT HT Sl
77 “zj
EL= T ICh! Td%cﬂlqﬂwa'ﬁ\&a?mmaq

(A) ?-Tq@?n 4
BY farfora et (e qsrﬁm) o
(C) =T FIm (ol
(D) T\ FIET 0\
(E) wafd g4 N
N

A shopkeeper marked the pgjﬁcs: of an article
which is 20% more than its cost price. He sells
the article at a discount of 15%. What is his

percentage gain or loss?

AL
(A) 3% loss (B) 5%)}[,{21“1
(C) 2% gain (D) 3% gain
() Question not attempted (N

N 5.5 s
W"fﬂvwmmmwuﬁ@tm Elktie
& 9§ 20, afu‘mlzr':m AT & 1S5% T2

(FZT) 9T 7 241 {1 3YH] 19 w(w rf:{ a1 ufaera

RO i)
(A) 3w BT 5% Ty
(C) 2% &M (D) 3% e
() syuifea uy

L-Z10] =

25

/"/ )
JI8 What is the principal amount which carns 3

"y
<.

2120
as compound interest for sccond year at a vale of

10% per annum? £

Lo wferad 26y s i iy aed ;{r‘{n\' 2420 vikafa

SRR D EAT R rﬂ 4K f”l[ QI

(A) 22,000 By z ‘n 000
(C) T 18,000 (Dy  T24.000
(I5)  Question not nlIcmp&:(l,’2}('{}['?[&4 U

An amount of T 4800 is (o he {Iis}rilwllrc(l drmongst
A, B and Cin such a way (h‘;t i|lc share ol A s
40% more than the share of H and the share of ¢
I 7()‘/1 less than the share of B Ilm share of 13
is:

T 4800 1 T BT A, 3 ST C R 311 20 e )
STl 2 6 A %7 50T B 3 it 1400, 1w 2 e ¢
T T B H 20% FH 21 13 T 77 2

\\*

(A) 3200 B) 1500
(C)  T2100 .u.‘))/‘?f i:(m
() s

Question not allcmplul

LI’ZO/AS()I) forest block™ in Shahpura, Rajasthan s

developedasa conservation reserve for
a8

Choose the most appropriate answer trom the
(AN

options given below: W
(A)  Tiger (B3) i‘?\nwl
(C)  Black Buck () Peacoek
(1) Question nol lllull]‘lu\léi
TR R QAT IR 5
et feord (e et R N fas e
N U\
TR N
Frfcfi foeenl § 4 waffae SUTRE
(A amEby ) e
A€ A R () N
(1) SriRa g

| Contd...
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S
Which of the following are the main causes of
dcforestation ?
a.  Building houses and factories
b.  Using land for cultivation
c. Conservation of wildlife
d.  Making fumiture
¢. To improve soil quality
Choose the most appropriate answer from the

options given below:

(A) a.banddonly (B) a,bandc only
(C) b,canddonly (D) a bande only
(E)  Question not attempted

er
a. 90 3R FrEE F7 fafo
b. Tt & foru wf &5y

ﬁuﬁrﬁavﬁ#a:‘nqma;aﬁmﬂw—ﬁg@m

c. TISIal FT R

d. =t F fou

e. T[T TUrEreT F guR % forg
ﬁéﬁqmﬁm"ﬁﬂwf&wm\, IR A:
(A) Fada b3id (B) Faca,baic

J[Oy #Fadb,c3d (D) Faeda, bae
(E) Hafta u=

Which of the following is an artificial setting for
protection of wild animals?
Choose the most appropriate answer from the

options given below:

(A) Wildlife Sanctuary

(B) National Park

(C) Biosphere Reserve

(D) Zoo

(E)  Question not attempted

A F Hew % fav frafafaa § @ R
Frerferfaa faedi & & waffae sogm sogh
(A) T arqamog

(B) THaTmm

(D) fafearm

(B) A0 a

26

b/zs/ Arrange the following districts of Rajasthap in

descending order according to population density
in 2011 census?

a. Bharatpur

b. Jaipur
Ajmer
d. Alwar

T & frefafiaa Gl 21 2011 % s
AT T ST 5 F STTET. ST 3y 5

srafera $ifsm

a, MUIqr”

b T 670 ol

c. IEHT

d. IFEC quqhq&ajz/

Choose thc most appropriate answer from the

options given below:

et few e foraredt & & wartferes Iwges 3 )
(A) a,b,c,d

(B) b,ac.d

(C) b,d,a,c
UPJ b,adc

(E)  Question not attempted / JITAItd 7%

d.M/Which of the following soil is found in western

Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Red and yellow soil
(B) Mix red and black soil
(C) Alluvial soil

(D) Desecrt soil

(E)  Question not attempted

Freferfaa o w-uht ger afirft oorar & arft @id
22

Fraferfiea fareal i & arfires uge 390 T
(A) et 3 dieft gar

By fifira st s et wan

(C) eiig a1

(D) wEwefi e

(B) oraf@ay

| (,Tunlll--'
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127
v

IKL- 719

Which

prevented by USIng v me?

ol the lollm\mr

diseases cannot be

Choose the maosr APPIOPriate e or from the

OpHONS given be low:

(\) ]llbu\uln_\,_\(]‘n“
(B Sm;l”-pn\

() Hepanns

(1M Scunvy

() Question not arte mpted

frafafea 7 § f

f AR R q9E qE
[EERISIRSE ) SN

frefafas taa“mﬁﬁ?q"ffﬁa;msﬁr?ﬁ
() EERE (T B Juw

JAOY T RUerRfeg (D) w5t

() wiE vy ‘

Which of the follm\’in“ IS not a \1ml discase
Choose the most appropriate

opuons given below:

answer from the

(A} Typhoid (B) CIEick‘cn pox
(€)  Measles (D) Polio
(E) QUu[mn not attempted* 4

= S wiea o e (@) St 7 i 2o
quammmﬁ

(C) fersrey (D) ‘ﬂﬁ
Who is the goalkeeper for ;team *Hockey

Rajasthan” for 14w Hockey Indla Junior Men’s
National Championship 70"4’7

Choose the most appmprmle zmS\\ er from the
options given below.

Z %

(A)  Meryj

(B)  Himanshu Kumar Sharma
(C)  Lovish 2
(D) Anurag Suthar £
() Question not allempted«

1497 Py ar’mmqﬁl oot ‘Tiﬁm?dnm 20247

19 ) e Tfﬂ?ﬁwm
ﬁmﬁmﬁmnawﬁmmmaﬁ

(A) m
(B) f?m'l FHI 7]
(C)  &nfaz

uby” ST
(E)  sgafia gy

| =

129

27

128"

What was the ranking of India i m P.ms Olympics
2024 Medals Tally?

Choose the maost appropriate answer from the

options given below:

(A)  72nd (B) (,1):]}\.
() 7ot (D 71n
() Question not Altempted

2024 afry siretfus 3 g QUGS eI Rt o

T U7
Freferfia fmreri 1 4 Wwfmm“wr?:
(A 724t By 697

©) 0= ey 714t

(E)  >73afra wx "

Who among the following presented the Anp

i0ug]
Budget. for the Gov ernment of R’ljdw}\ﬂ im July,
20247 - : ¢

Choose the most appropriate answer from the
options given below:

(A)  Shri Gajendra Singh }\hmw&: {Khimsar,
(B)  Shri Kirodi Lal Meena )
(C)  Shri Prem Chand Bairwa -
(D) Smt. Diva Kumari 1
(E)  Question not attempted \

ﬁtmu%a:rmnmw

TSR =7 57
WWWM
ﬁwmiﬁaﬁmqawar&mw*??
(A) ﬁﬂﬁaﬁaf‘@awn@wm
BT sit et e oy -
©) sSrIma=aEr
(D) =il fea gwmsy
(E) mﬁﬁaw
430 According 1o the modified bud\':x 2024-23 or

Rajasthan, what amount in Rupees L0es towards
interest payment? w4

Most appropriare Jni\\ °r from the
options given below.

Choose the

(A) 0.07 B) T 1b.9‘
)y T 77 (D) T3
(£)  Question not attempted i

TSTeUT o yftafia aor 20242253 mm\m?a

mmn?nﬁmmwmi?‘
ﬁwﬁmﬁmxﬁamﬁmmmv*
dAT 2 0.07 (B) 21092

©) 2772 D) T8

(E)  srgaf s
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JKL-Z10 |

Which of the Tollowing stute has been paired with.

. “ . N " ‘ “
Rapasthan under the Ll Dharat Shreshita Bharit

. .
aeheme of povernment of Indin'

Choose the maost appropriate imsaver from the

aptions piven below,

(A) Jharkhand (1) Munipun
() Telimgana (D) Assam
(1) Question notattempted

TG QRO R s i A i & did
(ps N Q aorena @ sdar s a ar y
A9 fam e famsenl 3 4 wware Juges 3 -

[0S Rl 1R o4 (3) g
(C) s (D) Sy

(1) axg—afla us

The “Trinetra Ganesh Ji* Temple of Rajasthan is
located in:-
Choosce the maost appropriate answer {rom the

options give below,

(A)  Kumbhalgarh Fort

(B)  JaisalmerFort

(C)  Ranthambore Fort

(D) Bhangarh Fort

() Question not attempted

et o e o S e et frra @
frefafad fawed 4 & watfas suge 3o 4

(A) Fwargfeer  (B)  Staen faer
(et i frer (D) ¥R feen

(I)

S 94

Recently in 2024, Rajasthan’s Animal Husbandry
and Dairy Minister launched camel milk with the
brand name:-

Choose the most appropriate answer from the
options given below:

(A)  Amul (B)  Saras
(C)  Nandini (D)  Urmul
() Question not attempted

T 7 2()24ﬁmm&;qumm%uﬁd#}§m'

MTW?Im'mm'aﬂmﬁmw)
ﬁmﬁﬁaaﬁmﬁuwaf%mwgq
(A)  =ma (3) “{T(q\’ S
ey Hfef (D) Jfe

(E) @dftdaug ‘

28

o

5 Who amongst the following Rajasthani wome:

7
/

n,( which of the following is not correct abou ),

National Mission for Cireen India (GIM)?
Choose the maost appropriate answer from g,

options given helow:
This mission has adopted an integral cre.,

(A)
seetoral approach.

(1) It is one of the nine missions outling
under the National Action Plan on Clirmgy,
Change (NAPCC).

(Cy It aims  at protecting, restoring  ap,
enhancing  India’s  diminishing  fore,
cover.

(D) It envisages a holistic view of greeniny,

() Question not attempted

wfe e 3 faw e s (Gure foos o
117 22 (GIM) 3 d@2f 0 FHF-81 47 97 71 7
fFrefafad fawedt © & waffaes 3agd 707 ==

» (A)
AT R
(B) Te Serary 9ftads o e i A F |

=qifaa sthmmt (faem) (NAPCCO) 5 5
2l

(Y TR ST I o O A A
QAR ST SeTan 247 2

(D) a® wftaredt & gvm gfeemmn =i gfrmer =

Rl

A w

players got the Arjuna Award in 20239
Choose the most appropriate answer from .
options given below:

(A)  Avni Singh Rathore
(B)  Bhawani Singh

(C)  Divyakriti Singh

(D)  Mohana Singh

(E)  Question not attempted

Frerferfam Tt wfen faenfet i 4 20
ﬁm“ﬁ“mmmz

Frerfeftes feravect f 4 raffares g 37 7
(A) o1 fe werg

B)  varh firg

(©) Forgpfa fire
(D) e fag
(B)  srieifea war

| (()llll|-"
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- _ Sz BSOS e s e A 335 Stwzrch aduliers
- -— - - - - - o4
- so ety
BRI s LSS
~ C5nvone the most appropriate zricncr from the
- WS e FLLINT LTIy o ves - o vp 3
o - - . 2 ¥
IUTA wiven beloy
NN s ;
S =g 2
B ?, Y, - - % /7
T ST TSR T T e o - oy
- = BN g o - 4984 4y
- AR}
_ g prowder
“‘___ — .‘: R -— -
> = =T -3 S -—N:_ T == Vv .fj?__’,'
- = : N nast antempted
Y = 1y : TETEE 7 T ET AT s
~ - . wssbmsons
- QOB = e El R FEA T
- N % S Sz d * ’
< - ~ - - w ws < e oy
SeSTREE T30 B B OITf iR IO 277 3
=

Lz most eppropriate

s O S
7% % N T
%7 s i . i s,

S

/, - ~

17} R

K TR s

‘L1 HAEiA Oy
<

(43 TPFEgE g0

%

iBj

STEE TR (T T Z7)

March List-T with List-f1-
List-I (Product) List-11 (Description)
2. Buner milk L By-productin
preparation of
chhena and paneer
b. Skim milk 1L Soft drink made
of whey

Wheyv ' 1.

Whevit IV,

Fat separated milk

o

Fluid obtained by
chumning of cream
i Into butter
ESEE T CiS i e Fifs
TqE1I (3re) -1 (Faramum)
a B ~N L. @TE}RW
THE I - 372
b Fmfaes N T F O T e
A FTqET (?g}\ UL T8 dEg oy
d =faz .7 Ny I & T
T R IR @

MOSt appropriate answer rom the
ophions given below:
:ﬁ?\iﬁum frar=a 5 3 £ I 3 iﬁ
LX) aivibeg .. d- 1

(B) a-nnb- e-1v, dg-1

©€) a-M,b- Lesv.d-n

(D) a- IV, b - Ulc - I, @51

(L) Question not attempted / \ﬂﬂ'ﬁfw R
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Choose the
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by
JA3/T he averag

JKL-Z710 |

There are 40% urls and 60% boys in a class. If

the number ngmx in the class is 7 more than the
number of ghis, then the number of boys in the
O
class is: N
s e A 0y e fRal 3 0% T & A e
“y . . )
ﬁa@aﬁaﬁl\ﬁ@mg%ﬁﬁ 7 a1fire R, A
mﬁm\§ %e
AT 20 :i [/7 oYU
By 25 O qﬁ arN
(B) o Tq‘,cy\
€ 22 o /
Pa— 10
\.iﬂ')v) 21 -
(E)  Question not attcmpted / TR T
qt
;:34

v o . .
J43° The a\'eraaé"oif 9 consecutive natural numbers is
'

‘A, then th€alerage of the 5 largest numbers out

of the 9 numﬁ;érs is:
T 9 TR el v s AT R, 7 o
9 TEATHI TS T8 at HErstt &1 3 B
(A) A+1§:
(B) A+4(N
PN
(D) A+2l,f1
(E)  Question not attempted / Wﬂ?ﬁm
g

€Df first 11 multiples of 13 js:

13 % 7am &i;maﬁmaﬂm%
NV f;%

B) 76 ¢

) 78 '
(D) 77

(E)

Question not attempted / MAGRGH
g

144 The main objective of “‘Heal in Rajasthan™ is:

Choosc“the most appropriate answer from the
options Qven below:

(A) SchcmL for large scale afforestation in
Ra‘]dslh'm

(B) T\O recover Rajasthan tourism from the
108s¢s during Corona period.

(C) Toicstablish hubs for medical tourism,
catering to both domestic and international
tourists for sccondary, tertiary and
qllf\rtcmary care procedures.

(D) To promote Rajasthan folk festival at
mtcmatlonal level.

(E) Qucstlon not attempted

ﬁaﬁmﬁﬁmg@mw%

ﬁwf%—lﬁaﬁﬁmﬁéwaff‘mmw—ﬂ

(A) TR § w2 T dra e
T QIS

L@Vﬁﬁmmw‘@mamﬁmm
cCiel
u@umm@uwﬁz&ﬁ%%ﬁnﬂ*—‘&
q&zq%aﬁ:aﬁua: Ffae T T ITEw
Wmﬁ%mmmml

(D) TSI & &l 3cqal &l g =0 T
T T

mﬁﬂw
\[‘

(E)

\—MS/The Go‘\g'mment of Rajasthan notifies * Amnesty
Scheme=2024" for settlement of dues in-
Chooseltlie most appropriate answer from the
options'given below:

(A) étale and Centre GST
B) Pre GST

(C) Post-GST

(D) F‘iiihre GST

(E) Q éstlon not attempted

IS G 2T Xt aer-2024 e T
?ﬂﬁua-r%a%’
ﬁnﬁﬁgaﬁmﬁéwaffba;mmﬂ
S fma%a GST &
(®) Gsy & T
(C)  GST & vz v
(D) wRr=.GsT =

(E) rTafa wa

>0 | Contd...



‘l}!(i Who chaired the Apex Committee of the *Natignal
Clean Air Programme’ on ‘Swach Vayu Divas’
(International Day of Clean Air for Blue Skics)

held at Jaipur in September, 20247

H/Which of the following rivers of Rajasthan falls

in the Gulf of Khambat?
Choose the most appropriate answer from the

options given below:

Choose the most appropriate answer from the ‘ (A)  Brahmani (B) Chambal
options given below: (C)  Mabi (D)  Banas
(A) Bhajan Lal Sharma ) .
(B) Bhupendra Rana E) Qu‘cstlon not attempted N
(C) Bhupendra Yadav e ae At Frefafeaa 5 & wed
(D)  Bhupendra Rawat T o @it # e &2
(E)  Question not attempted Wﬁmﬁ@mmwﬁq
= 9 e (@@ smaw % fou wws 9y (A) FRt (B) ==
satsta feam) w faamn2024 § s # §C () v T
Wwwm'aﬁg@vﬁ%ﬁmm (E) 3Taf@ o
e #10 g
Fr=faRaa fasedt § @ waffaes sugem I H: \;4( Kolayat lake is situated in which of the following
(A) IS 1T THi places in Rajasthan?
(B) @TS‘FW G_TU YQ \‘LM Choose the most appropriate answer from the
A(f;;/ ;I\’:z: :wﬁﬁt‘?—' options given below: |
= —(A) Kota (B) Udaipur
(E) H@Hﬁﬁﬁ&r (C) Bikaner (D) Jaipur

11,7/:&’111'011 of the following Wildlife Sanctuaries is
situated in Rajasthan state?

Choose the most appropriate answer from the

options given below:

(A) Annamalai
(B) Shant Ghati

" (C) Ramsagar

(D) Bandipur

(E)  Question not attempted
frefafad § 4 #1H-81 g 3MgRvg TSEd™ J
Prfafad el # & gaifere Iug Iat IH:
(A) ST

(B) i@ g

(C/)/UWTTTI

(D) SR

(E) 3gafa9a

2\, 25~
PRPIIENAN -

JKL- 710

31

- (E)  Question not attempted

TSTEIT | HIAEd Fie Frfafiad & Fet fea @
Freaferfiaa faaret § & watfires Jogw So0T:
(A) = @y AR

(©) s (D) AR

(E) Sguf@uy

¥50  In which year did Maharana Bhupal Singh ascend
the Mewar Gaddi?

Choose the most appropriate answer from the
opliéns given below:

forer rd & sreCTOT Sy fife 3 S e e
e faravet i & wrartfires e s,
(A) 1934 (B) 1930

€J 1931 D) 1932

(E) Question not attempted / aa'aﬁawﬂ

| [ Contd...
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